**VERIFY.FTGS.US** Date: July 05, 2024

| Seller (Exporter)<br>Healthy Green Life Corporation<br>43 Corporate Park   | Transport Type<br>Vessel    | Port of Loading Los Angeles          |
|--|-----------------------------|--------------------------------------|
| Irvine   | Destination Country         | Destination Port                     |
| CA   | China                       | qingdao                              |
| USA  |                             |                                      |
|  | Export Date                 | Exporting Carrier N/A                |
| consignee  | 2024-06-21                  |                                      |
| Inner Mongolia Shengdehetai Trading Co., LTD<br>Station 3E-028, Beixing Lianchuang Center,<br>Hohhot Comprehensive Bonded Zone,<br>Huimin District, Hohhot, Inner Mongolia 010110<br>China | Import Permit Number<br>N/A | Bill of Lading / AWB<br>401410261381 |
|  | Owner or Agent N/A          | Forwarding Agent N/A                 |

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1549 bales Total: 666.982MT



| Description<br>May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) | Weight                                 | Country of Origin |
|--|--|-------------------|
| Ifalfa Hay   | 22.099mt                               | United States     |
| larks: TXGU5795309 52bales   |  |                   |
| Ifalfa Hay   | 21.936mt                               | United States     |
| larks: EITU1191610 52bales   |  |                   |
| Ifalfa Hay   | 22.888mt                               | United States     |
| larks: EITU1684869 52bales   |  |                   |
| lfalfa Hay   | 21.836mt                               | United States     |
| larks: TXGU5843304 51bales   | XXXXX XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX |                   |
| Ifalfa Hay   | 20.729mt                               | United States     |
| larks: EISU9074175 52bales   |  |                   |
| Ifalfa Hay   | 22.335mt                               | United States     |
| larks: TEMU7116554 50bales   |  |                   |
| lfalfa Hay   | 21.791mt                               | United States     |
| larks: TGBU7148021 50bales   |  |                   |



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

**VERIFY.FTGS.US** Date: July 05, 2024

Transport Type Port of Loading Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China qingdao CA USA **Export Date Exporting Carrier** 2024-06-21 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 401410261381 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1549 bales Total: 666.982MT



| <b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) | Weight         | Country of Origin |
|---|----------------|-------------------|
| Alfalfa Hay   | 22.671mt       | United States     |
| Marks: BMOU5012834 52bales  |                |                   |
| Alfalfa Hay   | 22.988mt       | United States     |
| Marks: EITU1022991 52bales  |                |                   |
| Alfalfa Hay   | 23.278mt       | United States     |
| Marks: EITU1359977 52bales  |                |                   |
| Alfalfa Hay   | 21.99mt        | United States     |
| Marks: DRYU9901506 49bales  | XXXXX VALATION |                   |
| Alfalfa Hay   | 22.471mt       | United States     |
| Marks: TCNU3878799 52bales  |                |                   |
| Alfalfa Hay   | 23.306mt       | United States     |
| Marks: TGBU7891335 52bales  |                | DAYXXXX           |
| Alfalfa Hay   | 22.299mt       | United States     |
| Marks: EISU8243012 52bales  |                |                   |



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein

**VERIFY.FTGS.US** Date: July 05, 2024

Transport Type Port of Loading Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China gingdao CA USA **Export Date Exporting Carrier** 2024-06-21 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 401410261381 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1549 bales Total: 666.982MT



| <b>Description</b><br>(May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) | Weight   | Country of Origin |  |
|--|----------|-------------------|--|
| Nfalfa Hay   | 22.126mt | United States     |  |
| Marks: EMCU8558552 52bales   |          |                   |  |
| Nfalfa Hay   | 21.237mt | United States     |  |
| Marks: EGHU8342213 52bales   |          |                   |  |
| Alfalfa Hay  | 21.963mt | United States     |  |
| Marks: EITU1046571 52bales   |          |                   |  |
| Alfalfa Hay  | 21.773mt | United States     |  |
| Marks: EGHU9106737 52bales   |          |                   |  |
| Alfalfa Hay  | 22.362mt | United States     |  |
| Marks: EMCU1725262 51bales   |          |                   |  |
| Alfalfa Hay  | 22.299mt | United States     |  |
| Marks: TEMU6056532 52bales   |          |                   |  |
| Alfalfa Hay  | 23.024mt | United States     |  |
| Marks: EITU9275933 52bales   |          |                   |  |



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein

Date: July 05, 2024

Transport Type Port of Loading Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China gingdao CA USA **Export Date Exporting Carrier** 2024-06-21 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 401410261381 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

greater irvine chamber | Destination Irvine Economic Development

Remarks Total: 1549 bales Total: 666.982MT



| Description<br>(May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) | Weight   | Country of Origin |  |
|---|----------|-------------------|--|
| Alfalfa Hay   | 21.555mt | United States     |  |
| Marks: EITU1185875 50bales  |          |                   |  |
| Alfalfa Hay   | 22.408mt | United States     |  |
| Marks: EMCU1521720 52bales  |          |                   |  |
| Alfalfa Hay   | 22.516mt | United States     |  |
| Marks: EGSU9176337 52bales  |          |                   |  |
| Alfalfa Hay   | 21.809mt | United States     |  |
| Marks: GCXU5337086 52bales  |          |                   |  |
| Alfalfa Hay   | 22.507mt | United States     |  |
| Marks: EMCU9903078 52bales  |          |                   |  |
| Alfalfa Hay   | 22.77mt  | United States     |  |
| Marks: EGHU8424121 52bales  |          |                   |  |
| Alfalfa Hay   | 21.509mt | United States     |  |
| Marks: TXGU5581009 52bales  |          |                   |  |



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein



## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: GI-COO-48487-6688355357050

**VERIFY.FTGS.US** Date: July 05, 2024

Port of Loading Transport Type Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China qingdao CA USA **Export Date Exporting Carrier** 2024-06-21 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 401410261381 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1549 bales Total: 666.982MT



| Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) | Weight                                 | Country of Origin                     |
|--|--|---------------------------------------|
| Alfalfa Hay  | 22.099mt                               | United States                         |
| Marks: EMCU8509373 52bales   |  |                                       |
| Alfalfa Hay  | 22.408mt                               | United States                         |
| Marks: TGBU4005048 52bales   |  |                                       |
| ======================================   | ====                                   |                                       |
|  |  |                                       |
|  |  |                                       |
|  |  |                                       |
|  |  |                                       |
|  |  |                                       |
|  |  |                                       |
|  |  | A A A A A A A A A A A A A A A A A A A |
|  | XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX |                                       |



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein

## Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

## **COMMERCIAL INVOICE**

Invoice No.

SD-202405028

Date:

5/23/24

**Shipper/Exporter:** 

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD

SDHT-HGLC2024-4

401410261381

QINGDAO, China

7/3/24

Station 3E-028,

Beixing Lianchuang Center,

Hohhot Comprehensive Bonded Zone,

Huimin District, Hohhot,

Country of Origin: USA

Inner Mongolia

**Contract No.:** 

**Booking No.:** 

Discharge:

ETA:

**Vessel:** EVER LOGIC

**Voyage No.:** 1116-071W

**Shipping Line:** Evergreen

Port of Loading: LOS ANGELES, CA

**ETD:** 6/6/24

Price Terms: CIF

| Container No. | Seal #   | Product         | Bales | Net Weight (MT) | Unit Price USD/MT | Amount (USD) |
|---------------|----------|-----------------|-------|-----------------|-------------------|--------------|
| BMOU5012834   | A1710771 | Alfalfa Supremi | 52    | 22.671          | \$417.00          | \$9,453.81   |
| DRYU9901506   | A1710987 | Alfalfa Supremi | 49    | 21.990          | \$417.00          | \$9,169.83   |
| EGHU8342213   | A1710982 | Alfalfa Supremi | 52    | 21.237          | \$417.00          | \$8,855.83   |
| EGHU8424121   | A1710838 | Alfalfa Supremi | 52    | 22.770          | \$417.00          | \$9,495.09   |
| EGHU9106737   | A1710939 | Alfalfa Supremi | 52    | 21.773          | \$417.00          | \$9,079.34   |
| EGSU9176337   | A1710887 | Alfalfa Supremi | 52    | 22.516          | \$417.00          | \$9,389.17   |
| EISU8243012   | A1710984 | Alfalfa Supremi | 52    | 22.299          | \$417.00          | \$9,298.68   |
| EISU9074175   | A1710762 | Alfalfa Supremi | 52    | 20.729          | \$417.00          | \$8,643.99   |
| EITU1022991   | A1710772 | Alfalfa Supremi | 52    | 22.988          | \$417.00          | \$9,586.00   |
| EITU1046571   | 0553187  | Alfalfa Supremi | 52    | 21.963          | \$417.00          | \$9,158.57   |
| EITU1185875   | A1710890 | Alfalfa Supremi | 50    | 21.555          | \$417.00          | \$8,988.43   |
| EITU1191610   | A1710767 | Alfalfa Supremi | 52    | 21.936          | \$417.00          | \$9,147.31   |
| EITU1359977   | A1710988 | Alfalfa Supremi | 52    | 23.278          | \$417.00          | \$9,706.93   |
| EITU1684869   | A1710765 | Alfalfa Supremi | 52    | 22.888          | \$417.00          | \$9,544.30   |
| EITU9275933   | A1710889 | Alfalfa Supremi | 52    | 23.024          | \$417.00          | \$9,601.01   |
| EMCU1521720   | A1710888 | Alfalfa Supremi | 52    | 22.408          | \$417.00          | \$9,344.14   |
| EMCU1725262   | A1710933 | Alfalfa Supremi | 51    | 22.362          | \$417.00          | \$9,324.95   |
| EMCU8509373   | A1710836 | Alfalfa Supremi | 52    | 22.099          | \$417.00          | \$9,215.28   |
| EMCU8558552   | A1710983 | Alfalfa Supremi | 52    | 22.126          | \$417.00          | \$9,226.54   |
| EMCU9903078   | A1710839 | Alfalfa Supremi | 52    | 22.507          | \$417.00          | \$9,385.42   |
| GCXU5337086   | A1710881 | Alfalfa Supremi | 52    | 21.809          | \$417.00          | \$9,094.35   |
| TCNU3878799   | A1710986 | Alfalfa Supremi | 52    | 22.471          | \$417.00          | \$9,370.41   |
| TEMU6056532   | A1710932 | Alfalfa Supremi | 52    | 22.299          | \$417.00          | \$9,298.68   |
| FEMU7116554   | A1710780 | Alfalfa Supremi | 50    | 22.335          | \$417.00          | \$9,313.69   |
| TGBU4005048   | 1710835  | Alfaifa Supremi | 52    | 22.408          | \$417.00          | \$9,344.14   |

| 0              |
|----------------|
| 20             |
|                |
|                |
|                |
| 05             |
| 0              |
|                |
| >              |
| _              |
| $\neg$         |
| J              |
|                |
| $\overline{}$  |
| 0              |
| 7050           |
| 0              |
| /              |
| 5              |
| M              |
| 17             |
|                |
| <u>u</u>       |
| נא             |
| $\infty$       |
| $\infty$       |
| -6688355357    |
| 9              |
| - ĩ            |
| ċ              |
| <u></u>        |
| w              |
| 848            |
| $\infty$       |
| 4              |
| - 1            |
| Ò              |
| 000            |
| $\ddot{\circ}$ |
|                |
|                |
| ΞĐ             |
| 9              |
|                |

| Total Value: |          |                 | 1,549 | 666.982 |          | \$278,131.48 |
|--------------|----------|-----------------|-------|---------|----------|--------------|
| TXGU5843304  | A1710764 | Alfalfa Supremi | 51    | 21.836  | \$417.00 | \$9,105.61   |
| TXGU5795309  | A1710769 | Alfalfa Supremi | 52    | 22.099  | \$417.00 | \$9,215.28   |
| TXGU5581009  | A1710837 | Alfalfa Supremi | 52    | 21.509  | \$417.00 | \$8,969.25   |
| TGBU7891335  | A1710985 | Alfalfa Supremi | 52    | 23.306  | \$417.00 | \$9,718.60   |
| TGBU7148021  | 00380475 | Alfalfa Supremi | 50    | 21.791  | \$417.00 | \$9,086.85   |

| Commodity            | <b>Crude Protein</b> | Moisture | RFV   | ASH  |
|----------------------|----------------------|----------|-------|------|
| Alfalfa Hay(Supreme) | >=22                 | <=14     | >=185 | <=12 |

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

**AUTHORIZED SIGNATURE** 

